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15(2.0) BISLERA A R1.5.10 =BAE -
15(3.0) fmAA R1.5.10 =BAE -
45((18 ) ALAA R1.5.10 =BAE -
15(1.8) BISLERA A R1.5.10 =BAE -
15(2.5) BISLERA A R1.5.10 =BAE -
45(4.028 1)) BISLERA A R1.5.10 =BAE -
15(2.5) INEAA R1.5.10 =BAE -
15(3.0) BEBE A A R1.5.10 =BAE -
15(2.0) BISLERA A R1.5.10 =BAE -
15+25(2.0(& 8)) ZLAA R1.5.10 =BAE -
15(2.1) ffiAY A R1.5.10 =BAE -
15(3.5) ZLNA R1.5.10 =BAE -
15(1.2) ffiAY A R1.5.10 =BAE -
15(2.6) FREEE R A A R1.5.10 =BAE -
15(1.8) ffiAY A R1.5.10 =BAE -
15(1.4) ffiAY A R1.5.10 =BAE -
15(1.2) BISLERA A R1.5.10 =BAE -
15(2.4) ffiAY A R1.5.10 =BAE -
15(2.0) ffiAY A R1.5.10 =BAE -
25(2HK)) ffiAY A R1.5.10 =BAE -
15(1.2) FREEE R A A R1.5.10 =BAE -
15(2.5) BISLERA A R1.5.10 =BAE -
1531.7) EEANA R1.5.10 =BAE -
45(1.7) TR R f2 R1.5.10 =BAE -
15(2.2) EEANA R1.5.10 =BAE -
15(2.5) HAREENA R1.5.10 =BAE -
12+22(3.4(1B#)) TR R f2 R1.5.10 =BAE -
15(1.2) TR R f2 R1.5.10 =BAE -
15(2.0) TR R f2 R1.5.10 =BAE -
15(2.0) EEAA R1.5.10 =BAE -
45((4B %) KEH A R1.5.10 =BAE -
15(1.6) BISLERA A R1.5.10 =BAE -
15(3.2) KEHA. REHA R1.5.10 =BAE -
15(2.2) fAA R1.5.10 =BAE -
15(2.5) BENA R1.5.10 =BAE -
15(1.2) BISLERA A R1.5.10 =BAE -
45(3.8) KEHA. KEHA R1.5.10 =BAE -
15(2.8) B iaE R1.5.10 =BAE -
15(1.0) BIKERA A R1.5.10 =BAE -
15(1.5) KigH A . fiH A R1.5.10 =BAE -
15(2.7) BISLERA A R1.5.10 =BAE -
15(2.6) BN A R1.5.10 =BAE -
15(3.5) ffiAY A R1.5.10 =BAE -
1531.7) ffiAY A R1.5.10 =BAE -
15(2.6) KiEH A R1.5.10 =BAE -
2548 1)) ALAA R1.5.10 =BAE -
15(1.8) KiEH A R1.5.10 =BAE -
25((4HK)) BISLERA A R1.5.10 =BAE -
15(2.0) fih A, FBIKERBEREIE TAE R1.5.10 =BAE -
15(3.2) BN A R1.5.10 =BAE -
15(1.2) KiEH A R1.5.10 =BAE -
15(2.5) THEBE R1.5.10 =BAE -
15(2.5) BN A R1.5.10 =BAE -
15(1.0) BN A R1.5.10 =BAE -
45(1.8) BENA R1.5.10 =BAE -
15(2.0) KiEH A R1.5.10 =BAE -
15(2.0) KiEH A R1.5.10 =BAE -
15(2.3) BN A R1.5.10 =BAE -
45(4.028 1)) BN A R1.5.10 =BAE -
12+22(1.5(1 B #)) KiEH A R1.5.10 =BAE -
25(2HK)) BIRERA A R1.5.10 =BAE -
2528 1)) KiEH A R1.5.10 =BAE -
15(3.4) BN A R1.5.10 =BAE -
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15(3.2) fAA R1.5.10 =BAE -
15(1.5) BISLERA A BEBEA A R1.5.10 =BAE -
15(3.0) BENA R1.5.10 =BAE -
15(3.4) HREEA A R1.5.10 =BAE -
12+22(3.11 B #)) BN A R1.5.10 =BAE -
15(2.5) KiEH A R1.5.10 =BAE -
15(4.0) AN R A =PI R1.5.10 =BAE -
15(2.5) ERER BIEIEE R1.5.10 =BAE -
15(3.0) ERER BIEIEE R1.5.10 =BAE -
15(5.4) KRB BEIKE TAE R1.5.10 =BAE -
25(2HK)) KRB BEIK TAE R1.5.10 =BAE -
15(2.0) FFREZE R1.5.10 =BAE -
25(&R) KiEH A R1.6.7 =BAE -
15(2.5) KiEH A R1.6.7 =BAE -
45(0.7) EAA R1.6.7 =BAE -
45((381%) BENA R1.6.7 =BAE -
15(2.0) EAA R1.6.7 =BAE -
15(2.5) KiEH A R1.6.7 =BAE -
15(3.0) KiEH A R1.6.7 =BAE -
15+25(1.8(&H)) KiEH A R1.6.7 =BAE -
45(1.7) EMA R1.6.7 =BAE -
15(2.5) EMA R1.6.7 =BAE -
15(3.5) BN A R1.6.7 =BAE -
15(2.5) EMA R1.6.7 =BAE -
25((BHK)) KiEH A R1.6.7 =BAE -
15(2.7) BN A R1.6.7 =BAE -
15(2.5) KiEH A R1.6.7 =BAE -
15(3.2) INGED A R1.6.7 =BAE -
12+22(4.118%)) TR R f2 R1.6.7 =BAE -
15(1.2) BN A R1.6.7 =BAE -
12+22(3.200 B#)) BENA R1.6.7 =BAE -
15(2.0) KiEH A R1.6.7 =BAE -
12+22(3.2028%)) KiEH A R1.6.7 =BAE -
15(2.5) TR R f2 R1.6.7 =BAE -
12+22(4.7(3A#)) EMA R1.6.7 =BAE -
25((1HK)) TR R f2 R1.6.7 =BAE -
25((18%)) FFRE B E A A R1.6.7 =BAE -
15(1.0) AL IRDA . BRRER BUEIZEE R1.6.7 B IE -
25((4HK)) BEBEA A R1.6.7 =BAE -
15(3.0) BISLERA A R1.6.7 =BAE -
15(1.2) BKERA A R1.6.7 =BAE -
15(1.5) TIREEHNA R1.6.7 =BAE -
15(2.3) fAA R1.6.7 =BAE -
45(2.7) BEBEA A R1.6.7 =BAE -
15(2.0) BISLERA A R1.6.7 =BAE -
15(3.0) LA R1.6.7 =BAE -
12+22(4.5028%)) ZLAA R1.6.7 =BAE -
45(3.628 1)) FREEE R A A R1.6.7 =BAE -
15(1.8) KiEH A R1.6.7 =BAE -
15(1.8) KiEH A R1.6.7 =BAE -
15(1.8) fAA R1.6.7 =BAE -
12+22(3.201 B#)) BISLERA A R1.6.7 =BAE -
25((BHK)) ZLNA R1.6.7 =BAE -
15(2.0) ZLNA R1.6.7 =BAE -
25(2HK)) BEBEA A R1.6.7 =BAE -
45(2.8) AN A R1.6.7 =BAE -
15(2.0) AN A R1.6.7 =BAE -
15(2.6) AN A R1.6.7 =BAE -
15(2.2) AN A R1.6.7 =BAE -
12+22(5.0(38 #)) AN A R1.6.7 =BAE -
15(1.6) BEBEA A R1.6.7 =BAE -
15+25025(148%)) [BEHLA R1.6.7 =BAE -
15(3.4) [RHETEHSA R1.6.7 =BAE -
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12+22(3.2(48 %)) OEAA R1.6.7 =BAE -
15(1.7) fmAA R1.6.7 =BAE -
15(2.2) OEAA R1.6.7 =BAE -
15(3.4) LA R1.6.7 =BAE -
15(2.5) BIKERA A R1.6.7 =BAE -
15(2.0) BISLERA A R1.6.7 =BAE -
15(1.8) LA R1.6.7 =BAE -
15(1.8) AN A R1.6.7 =BAE -
15(3.2) KiEH A R1.6.7 =BAE -
15(3.2) BISLERA A R1.6.7 =BAE -
15(2.5) fAA R1.6.7 =BAE -
15(2.0) BISLERA A R1.6.7 =BAE -
15(2.0) BENA R1.6.7 =BAE -
15(2.5) ZLNA R1.6.7 =BAE -
15(2.8) INEAA R1.6.7 =BAE -
25((1HK)) E/NE R1.6.7 =BAE -
15(2.0) EY/NE R1.6.7 =BAE -
15(2.9) E/NE R1.6.7 =BAE -
15(2.3) EHEMBUERE R1.6.7 =BAE -
15(1.7) S F Bk B MR R1.6.7 =BAE -
15(1.2) EY/NE R1.6.7 =BAE -
15(1.4) KRB BEIKE TAE R1.6.7 =BAE -
15(1.2) IDEIEE R1.6.7 =BAE -
15(2.3) LA R1.7.5 =BAE -
15(3.3) BEBEA A R1.7.5 =BAE -
15(3.5) fmAA R1.7.5 =BAE -
12+22(2.26 B #)) BEBEA A R1.7.5 =BAE -
15(1.8) REHA R1.7.5 =BAE -
15(3.0) BENA R1.7.5 =BAE -
15(1.2) BISLERA A R1.7.5 =BAE -
15(2.5) AN A R1.7.5 =BAE -
15(2.5) AN A R1.7.5 =BAE -
15(1.2) AN A R1.7.5 =BAE -
15(2.0) AN A R1.7.5 =BAE -
25((1HK)) LA R1.7.5 =BAE -
15(2.4) BIKERA A R1.7.5 =BAE -
25(&H) meENE R1.7.5 =BAE -
15(2.0) ZLNA R1.7.5 =BAE -
15(2.8) BEBEA A R1.7.5 =BAE -
15(2.0) BISLERA A R1.7.5 =BAE -
25((1H&)) BISLERA A R1.7.5 =BAE -
15(1.1) [RHETEHNA R1.7.5 =BAE -
15(3.2) EEANA R1.7.5 =BAE -
15(2.0) EEANA R1.7.5 =BAE -
15(2.9) TR R f2 R1.7.5 =BAE -
12+22(3.4(3B %)) EEAA R1.7.5 =BAE -
15(1.0) EAA R1.7.5 =BAE -
15+25(3.3(& R)) JEENA. KBEHA R1.7.5 =BAE -
15(1.5) HAREENA R1.7.5 =BAE -
12+22(3.5(1 B #)) EAA R1.7.5 =BAE -
15(1.5) TR R f2 R1.7.5 =BAE -
15(2.4) HAREENA R1.7.5 =BAE -
15(1.6) + =155 ELEE SN A R1.7.5 =BAE -
15(5.0) ZLNA R1.7.5 =BAE -
15(1.7) BN A R1.7.5 =BAE -
25(2H%)) EHEBE R1.7.5 =BAE -
15(1.8) BENA R1.7.5 =BAE -
15(2.0) fAA R1.7.5 =BAE -
15(0.6) BISLERA A R1.7.5 =BAE -
12+22(3.5(1 B #)) A A FIKIRBEEIE TAE R1.7.5 =BAE -
350 BENA R1.7.5 =BAE -
45(1.6) BN A R1.7.5 =BAE -
15(3.3) BN A R1.7.5 =BAE -
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15(2.0) KiEH A R1.7.5 =BAE -
15+25(4.1(&8)) BMEAE R1.7.5 =BAE -
15(1.3) fmAA R1.7.5 =BAE -
12+22(6.128 #)) KiEH A R1.7.5 =BAE -
45(1.3) KiEH A R1.7.5 =BAE -
12+22(4.5(1B#)) BISLERA A R1.7.5 =BAE -
25(2HK)) fmA A R1.7.5 =BAE -
15(2.0) BN A R1.7.5 =BAE -
15(2.0) BN A R1.7.5 =BAE -
15(1.5) KiEH A R1.7.5 =BAE -
15(2.3) + =B A R1.7.5 =BAE -
15(3.1) BISLERA A R1.7.5 =BAE -
12+22(3.428 %)) BN A R1.7.5 =BAE -
4=5(281%) fmA A R1.7.5 =BAE -
1531.1) LA R1.7.5 =BAE -
15+25(4.7(& R)) hEREES R1.7.5 =BAE -
15(3.0) fAA R1.7.5 =BAE -
15(2.5) BISLERA A R1.7.5 =BAE -
15(1.8) BEBEA A R1.7.5 =BAE -
25(&R) fmA A R1.7.5 =BAE -
15(1.8) BN A R1.7.5 =BAE -
15+280 BN A R1.7.5 B IE -
15(3.4) BENA. BENA R1.7.5 =BAE -
15(1.2) LA R1.7.5 =BAE -
15+25(4.0(& 8)) BHA R1.7.5 =BAE -
25((1HK)) BISLERA A R1.7.5 =BAE -
15(2.0) BENA R1.7.5 =BAE -
15+25(2.0~3.0(& R)) [RILRAA R1.7.5 =BAE -
1531.7) fAA R1.7.5 =BAE -
15(3.0) BEBEA A R1.7.5 =BAE -
15(2.6) fAA R1.7.5 =BAE -
15(3.0) AN R A =PI R1.7.5 =BAE -
15(1.8) IDEIEE R1.7.5 =BAE -
25((1HK)) IDFAFEEE R1.7.5 =BAE -
45(1.7) IDEIEE R1.7.5 =B IE -
25((1081)) EEBEERIE R1.5.10 AT -
45((108 ) fEE R AR R1.5.10 T -
15(5.0) £ T EEE R1.5.10 T -
15(6.5) fififE R1.5.10 T -
25 ((7BR) B AR R1.5.10 T -
45(6.0) [REF Mz R1.5.10 T -
15(3.0) INKAE A R RS R1.5.10 T -
15(5.0) BigH > (EBMBEaLA) . BISLIRH R1.5.10 AT -
25(5H%)) BRI A MR . B R1.5.10 AT -
15(4.5) Bz R1.5.10 T -
350 HEBERE R1.5.10 T -
25((118%#)) BISLERA A R1.5.10 T -
320 ﬁéﬁﬂﬂi{; ZhIREERI BT . B LR R15.10 T _
15(4.1) B IR R1.5.10 T -
350 A L EihkE R1.5.10 T -
25 (58 %)) EBHLA R1.5.10 T -
25((108 %)) EHEMBUEEREICBITL-ERME A IR R1.5.10 T -
15(2.3) KRB BE K TAE R1.5.10 T -
350 KRB BEIK TAE R1.5.10 T -
15(3.0) LDEME., LI-E R1.5.10 T -
25((11B)) IR D IEE R1.5.10 T -
15+25(4.7(% ) wmRE, EBEELRE R1.5.10 T -
15(1.0) IN—=FV9R R1.5.10 T -
4518 ) [ R1.5.10 T -
15(2.2) [ R1.5.10 AT 1
15(2.0) Ak m R1.5.10 AT 1
15(2.3) Hixi H Ifn R1.5.10 AT 1
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15(2.4) B AR R1.5.10 FAIED 1
15(1.2) Bt E R1.5.10 T 1
25 (1 8#)) BiE R1.5.10 AT 1
25 (1 8#)) BiE R1.5.10 AT 1
15(3.0) KigH> R1.5.10 AT 1
45(1.5) METER B NBE R1.5.10 ;T 1
15(1.3) mEEENE R1.5.10 AT 1
15(2.0) FKIRIES R1.5.10 ;T 1
15(1.1) KRB BEIK TAE R1.5.10 ;T 1
15(1.0) Bl P AK AR BE RE TTEE S R1.5.10 ;T 1
15(7.5) ik R1.6.7 ;T 1
25((11B %)) LiTtEmEME. B E R1.6.7 ;T 1
15(4.4) BISLARA A R1.6.7 AT 1
15(4.5) RERE R1.6.7 ;T 1
15(7.5) TN R1.6.7 ;T 1
154.7) AELE R1.6.7 AT 1
45(4.6) KiG#E= R1.6.7 AT 1
15(4.5) A LEmkE R1.6.7 T 1
= EAERRIIELA. ERE 2 /\EiExFE., 2L
1544 MABER. EBMRFA A R167 AT L
350 Sk R1.6.7 T 1
42(5.0) EERE R1.6.7 FAIR 1
350 ILAA R1.6.7 T 1
25 ((581%)) SN R1.6.7 SIS 1
350 BIAE = R1.6.7 T 1
45(4.1) B iR R1.6.7 FAIED 2
25108 %)) KiEH A R1.6.7 FAIED 2
25((148 %)) Bz R1.6.7 T 2
25((6H %)) BAEABEMEM. REHREATS OE U RIE R1.6.7 SIS 2
380 B R RUEIREE R1.6.7 T 2
25((108 1)) S ERYEmE R1.6.7 T 2
25(&R) AR B NE R1.6.7 SIS 2
25((1HK)) g% R1.6.7 SIS 1
25((2B#)) 2 CRIAT & R1.6.7 FAIED 1
15(1.5) SAPHOJE{% & R1.6.7 FAIED 1
12(2.0) IN—FDYIR R1.6.7 HT 1
15(4.5) BIIIL BRAR KAE R1.6.7 T 1
25(2HK)) Ei) B, BFEEE R1.6.7 AT 1
15(2.0) EELE R1.6.7 T 1
25 ((18#) R—I %R R1.6.7 FAIED 1
15(1.2) AR B NE R1.6.7 SIS 1
1531.1) BEABRAE R1.6.7 SIS 1
25 ((18#) KRS BEIK TAE R1.6.7 T 1
25((4HK)) e - tIERMESIREEHY R1.7.5 AT 1
25(5H%&)) iR RE R1.7.5 AT 1
25 (9B %)) il R1.7.5 FAIR 1
45() ERERE R1.7.5 T 1
15(4.5) EEE R1.7.5 T 1
350 K=, S E R1.7.5 T 1
15(4.1) MESERE R1.7.5 SIS 1
15(4.1) M ER BB = R1.7.5 FAIED 1
25 (681)) KRS BEIK TAE R1.7.5 FAIED 1
25((1HK)) AR B NE R1.7.5 ;T 1
45(1.7) 2mE. BEEE. D R1.7.5 S 1
15(4.1) SMOHEE R1.7.5 T 1
15(1.0) /MR EE R1.7.5 FAIED 1
12+22(4.001 B#)) EHBLSA . BILIEN A R1.7.5 S 1
15(1.0) BISLERA A R1.7.5 FAIED 1
25 ((18#) RI%E R1.7.5 FAIED 1
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